MULTIPLICATION: NEGATIVE DECIMAL NUMBERS (H - SET 1)

TWO DIGIT DECIMAL NUMBER 1;?;1: o
2 —0.1 x (=0.027) = 136 —0.1 x (=8.6) =
©22) —().02 x 0.0061 = 7 —0.07 x 0.0007 =
23 —(.005 x 0.11 = 15 0.009 x 91 =
29 —0.9 x (—=54) = 139) —(0.7 x 0.22 =
235 —(0.006 x (—3.1) = 10 0.04 x 0.054 =
26 —0.001 x (=53) = 1y —0.005 x 91 =
21 —0.0003 % (—0.016) = w2 —0.0001 x (—41) =
28 0.0006 x (—0.0017) = ) 3 x (—1) =
29 —0.09 x 0.041 = ) —0.4 x (—=0.049) =
5 —0.3 x (=0.2) = w) —0.9 x (=74) =
B) —6 x (—8b) = 1) (0.005 x (—0.0012) =
@) 0.5 x (—1.5) = un —0.003 x (—0.25) =
33 —0.05 x (—0.6) = ) 0.3 X 4.7 =
59 0.07 x (—0.44) = 19 10 x (—0.93) =
3 0.3 x (—0.0034) = 50 —0.0001 x (=77) =
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